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run_13058018 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13058018 FGT MPV_1,Timebin=2,Disc=1,asmb=1AB
Mon Feb 27 09:35:34 2012
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run_13058018 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13058018 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13058018 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Mon Feb 27 09:33:59 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

Aé)opecl

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

ABC-ped

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=9 l

Agoped

LI
0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

< AR R R A

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
ofE—-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
0 f—-
=
=
0 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. 8 .0 ., . L A

10

10

10°

10

10°

10

10"

10

10"




run_13058018 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Feb 27 09:35:40 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13058018 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Mon Feb 27 09:36:14 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

60

50

RMS (ADC-ped)

40

30

20

10

TTTTTITTTErEEFTTEEFEEETTEEFHHT

i
120
APV channel

120 |-

100 fr—

RMS (ADC-ped)

80
60 =

40

20 [

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

0 =

80

RMS (ADC-ped)

70

60

50

40

30 p—

20

10

0

APV channel




run_13058018 FGT ADC_1,Timebin=2,Disc=3,asmb=3AB
Mon Feb 27 09:34:03 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13058018 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Mon Feb 27 09:35:41 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13058018 FGT _RMS 1,Timebin=2,Disc=3,asmb=3AB
Mon Feb 27 09:36:15 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel
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Mon Feb 27 09:35:41 2012
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run_13058018 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Mon Feb 27 09:36:15 2012
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run_13058018 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 09:34:08 2012
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run_13058018 FGT _MPV_1,Timebin=2,Disc=4,asmb=4DA

Mon Feb 27 09:35:42 2012
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run_13058018 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 09:36:16 2012
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run_13058018 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 09:34:10 2012
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run_13058018 FGT _MPV_1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 09:35:42 2012
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run_13058018 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 09:36:16 2012
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run_13058018 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB

Mon Feb 27 09:34:13 2012
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Mon Feb 27 09:35:43 2012
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run_13058018 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Feb 27 09:36:17 2012
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run_13058018 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB
Mon Feb 27 09:34:17 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13058018 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Mon Feb 27 09:35:45 2012
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run_13058018 FGT RMS 1,Timebin=2,Disc=4,asmb=4AB
Mon Feb 27 09:36:19 2012
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run_13058018 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Feb 27 09:34:19 2012
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run_13058018 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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Mon Feb 27 09:35:48 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13058018 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC

Mon Feb 27 09:36:22 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

RMS (ADC-ped)

90 [

80

70

60

50

40

30

20

10

0

L i i i
40 60 80 100 120

[ADC RMS for

RDO=2,ARM=0,APV=1 "}

RMS (ADC-ped)

80

70

60
50 |

40

30

20

10 f

0

APV channel

[CADC RMS for

RDO=2,ARM=0,APV=2 |

RMS (ADC-ped)

70

60

50

40

30

20

10

1
120
APV channel

RMS (ADC-ped)

b—
—
= i i i i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

RMS (ADC-ped)

70

60

50

40

30 b

20

10

APV channel

F]

40 60 80 100 120
APV channel




run_13058018 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 27 09:34:35 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

C-ped

HAD!
)

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=6 }

é:DOped

I
3000 4000
raw ADC

1 1
0 1000 2000

[ADC for FGT RDO=2,ARM=0,APV=7 }

Aé)CAped

2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=8 }

Agoped

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0,APV=9 l

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=6

4000

APV channel

3500

ADC-ped

3000
2500
2000 =
1500
1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=7

" 1
60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
E
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=8
- 4000 p—
5] = . . .
g = 2 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0

[ ADC for FGT RDO=2,ARM=0,APV=9

4000

40

60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13058018 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 27 09:35:50 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13058018 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 27 09:36:23 2012

[ ADC RMS for RDO=2,ARM=0,APV=5 }
?g‘ EY
8
< 80
0
= 70
©
60 E
50
40
30
20
10
o i i i i i i
20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=6 }
=
g 60
o
a
<
[%] 50
=
@
40
30
20
10
0 1
120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=7 }
= 70 F
g
g :
< 60
I
5 50
40 f=
30 :
20
10
o I i i i i
120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=8 }
g
-3 80
Q
a
< 70 E
0
=
3 60
50
40
30 =
20
10 f= B
o = i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=9 "}
= 90 =
2
8 80
<
[%] 70
=
@

60 E

50

40

30

20

10

i
120
APV channel

0




run_13058018 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Mon Feb 27 09:34:39 2012

ADC for FGT RDO=2,ARM=0,APV=12

[ 1000 2000

3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=13

ADgped

1
1000 2000

1
3000 4000

raw ADC

[ ADC for FGT RDO=2.ARM=0.APV=14
—

Aé)CAped

2000

1000

3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=15

Aé?oped

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0,APV=16

ﬂéf)(}ped

0 1000 2000

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=13

APV channel

= 4000 p—
] =
5 =
8 3500 f=——
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i i i i i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=14
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=15
= 4000 p—
] = . . .
& = 8
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16
= 4000
2 0 0 0 0 0 g
&
Q 3500 -4q-1-
<

3000

2500

2000

1500

1000

500

0

°THI]ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

A . . R

10

10"

10

10°

10

10"

10

10°

10°




run_13058018 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD

Mon Feb 27 09:35:51 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

120
APV channel

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

I
120

-500

[ ADC MPV for RDO=2,ARM=0,APV=16 }

20 40 60 80 100

APV channel

MPV (ADC-ped)

-500

120
APV channel

20 40 ) a0 100




run_13058018 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Mon Feb 27 09:36:24 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

400

350 £

RMS (ADC-ped)

300 s
250 =
200
150

D |(==ooc0000005000560004 Po2500050900500000000004 RGCLECLLECELECLLECELEL $090000000000000000500 Poo00000000000050005007 $090000000050000000500 Bossooo

s > ; i dpilg i e N3 § D EREERE FoB55000000050000500008 Rl

i i
100 120
APV channel

o
N
53
FN .
S
3
S
@
3

0

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

3 60 |
2 B
(6]
[a]
< 50 [F
12}
=
'3
40
30
20

10

" " " " " " " " " i " " " i " " " i " " " 1
9 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

g —
g 60 FH
Q m
=] 1
< u
@ 50

= o=
x —

40
£Vl iR RREEEEEEEEE BF EPESSPEERTRE B Pol N 0TS B o VR E DL B 00, TS B § E PR Bong P FE RS PEREe S SRR A0 1 3 PR RS PE URY oy o s e o o

20

10 f

i
120
APV channel

RMS (ADC-ped)

APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

50

40

RMS (ADC-ped)

|

APV channel

30

20

10

°'TI1'I'II1'I'T|1'I'H TR




run_13058018 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Mon Feb 27 09:34:43 2012

[ ADC for FGT RDO=2,ARM=0,APV=17 |

5

3

5

o

2o

10
0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=18 |

1000 2000

3000 4000
raw ADC

[ Apcfor

FGT RDO=2,ARM=0,APV=19
—

C-ped

HAD!

2000

3000 4000
raw ADC

[ ADC for

FGT RDO=2,ARM=0,APV=20

-ped

Al
U

0

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0,APV=21

ADCped

0

1000 2000

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
==
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] = 0
5 =
8 3500 === <o =
< = .
3000 f=— - - - - - o|p=odegescecssscaes =
= 8
2500 = - - - - - B R -
=
2000 = - - - - - B T -
= o
1500 f=r— |- - - - - -
= b
1000 = +{- - - - - R -
= 8
500 = -tk .- -
= 8
Of=—=----- O TR EEEEEN -
= . . i . . i i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=20 }
= 4000 p—
] = . .
g = 8 8
Q 3500 f=—| e
< =
3000 - === seleee
2500 [ P

2000

1500

1000

500

0

ADC for FGT RDO

=
=
=
e
=
=
=
—
=
=

0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

60 80 100 120
APV channel

APV channel




run_13058018 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Mon Feb 27 09:35:52 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120
APV channel

-500

MPV (ADC-ped)

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13058018 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Mon Feb 27 09:36:26 2012

[ ADC RMS for RDO=2,ARM=0,APV=17 |}
g L e T L e
a
0 =11
Q an
<
0
=
©
[ ADC RMS for RDO=2,ARM=0,APV=18 "}
= 50 F—
3 —
5] [
g o
2 o
2 oe
[T
30 BT
20 FH
10 :_
ne i
9 0 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=19 |
=
g
o
a
<
I
3
3
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=20 |}
=
g 60
Q
a
<
%] 50
=
©
40
30
20
10 |
0
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=21 "}
3 %)
&
8 80
<
2 70
@

60

50

40

30

20

10

i
120
APV channel

0




run_13058018 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 27 09:34:46 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

ISC=

2,D

53 2012

in

b
35

Ime

Mon Feb 57 09

0 1]

run_13058018_FGT_MPV_1,T

2,ARM=

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13058018 FGT RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 27 09:36:27 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13058018 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2BC

Mon Feb 27 09:34:48 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

AOE:Oped

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }

AgNCAped

1
2000 3000 4000
raw ADC

1
1000

[ADC for FGT RDO=2,ARM=1,APV=8 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=9 |

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13058018 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 27 09:35:53 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13058018 FGT RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 27 09:36:27 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

300

250

200

150

100

50

1

13333333313 EEEEEEEEEECEEEE

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=6 }

RMS (ADC-ped)

60

50

40

30

20

10 |5

[ ADC RMS for RDO=2,ARM=1,APV=7 }

RMS (ADC-ped)

70

60

50

40

30

20

10

0

=

=

—

=

=

=

=

=

= : : : :
= 1 1 1 1 1

0 20 20 60 80 100 20

APV channel

[CADC RMS for RDO=2,ARM=1,APV=8__}

RMS (ADC-ped)

(11T T

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

100 f=

APV channel
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Mon Feb 27 09:36:28 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel
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run_13058018 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
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